# **Box Gang Manufacturing LLC**

16736 E Hardy Rd Houston, TX 77032-1125 US 7137425555 info@boxgangmfg.com www.boxgangmfg.com



# **Estimate**

# **ADDRESS**

Thomas Everett
City of Killeen, TX
2003 Little Nolan Rd
Killeen, Tx 76542
SOURCEWELL MEMBER #
86944

# SHIP TO

Thomas Everett City of Killeen, TX 2003 Little Nolan Rd Killeen, Tx 76542 ESTIMATE # 12216

DATE 08/26/2025

EXPIRATION DATE 10/15/2025

## **SALESPERSON**

Tiffany Raye

DESCRIPTION	QTY	RATE	AMOUNT
ROL-TOT2242 20 Yard Tub Opentop Roll-Off - One Piece 3/16" Floor - 10 Gauge Sides, Front &Door - 6"x 2"x3/16" Main Rails - Crossmembers on 18" Centers - 3"x 4"x 3/16 Top Tube - Primed & Painted Any Std Color 22' L x 90"W x 40"H SOURCEWELL ITEM CITY OF KILLEN SW # 86944 BOX GANG - #010825-BXG	8	5,120.00	40,960.00
ROL-OPTION 1/4" FLOOR OPEN MARKET	8	525.00	4,200.00
ROL-TOT2260 30 Yard Tub Opentop Roll-Off - One Piece 3/16" Floor - 10 Gauge Sides, Front &Door - 6"x 2"x3/16" Main Rails - Crossmembers on 18" Centers - 3"x 4"x 3/16 Top Tube - Primed & Painted Any Std Color 22' L x 90" W x 60" H SOURCEWELL ITEM CITY OF KILLEEN SW # 86944 BOX GANG - #010824-BXG	8	5,544.00	44,352.00
ROL-OPTION	8	525.00	4,200.00

DESCRIPTION QTY RATE AMOUNT

# 1/4" FLOOR OPEN MARKET

Estimated freight \$1200 per truckload. All freight must be confirmed at time of shipping due to volatility.

Full load:

20yd tubs - 8 per load 30yd tubs - 7 per load SUBTOTAL TAX SHIPPING TOTAL 93,712.00 0.00 2,400.00 **\$96,112.00** 

Accepted By Accepted Date

# **Box Gang Manufacturing LLC**

16736 E Hardy Rd Houston, TX 77032-1125 US 7137425555 info@boxgangmfg.com www.boxgangmfg.com



# **Estimate**

ADDRESSSHIP TOESTIMATE # 12217Tyler O'DellTyler O'DellDATE 08/26/2025City of Killeen, TXCity of Killeen, TXEXPIRATION DATE 10/15/2025

2003 Little Nolan Rd
Killeen, Tx 76542

2003 Little Nolan Rd
Killeen, Tx 76542

SOURCEWELL MEMBER (254) 501-7757 - Office (254) 423-1929 - Cell Receiving

Hours: 8 am - 2 pm

## **SALESPERSON**

Tiffany Raye

DESCRIPTION	QTY	RATE	AMOUNT
FL-2 FT 2 Yard Frontload Flattop - 10 gauge floor, 12 gauge sides, plastic lids, 5 foot floor supports, primed & painted Forest Green. SOURCEWELL ITEM CITY OF KILLEEN - SW ID# 86944 BOX GANG MFG - 010825-BXG SN:	10	580.00	5,800.00
FL-3 FT 3 Yard Frontload Flattop - 10 gauge floor, 12 gauge sides, plastic lids, 5 foot floor supports, primed & painted Forest Green. SOURCEWELL ITEM CITY OF KILLEEN - SW ID# 86944 BOX GANG MFG - 010825-BXG SN:	10	665.00	6,650.00
FL-4 4 Yard Frontload Slant - 10 gauge floor, 12 gauge sides, 5 foot floor supports, primed & painted Forest Green. SOURCEWELL ITEM CITY OF KILLEEN - SW ID# 86944 BOX GANG MFG - 010825-BXG SN:	20	725.00	14,500.00
FL-6 6 Yard Frontload Slant - 10 gauge floor, 12 gauge sides, plastic lids, 5 foot floor supports primed & painted Forest Green.	30	955.00	28,650.00

DESCRIPTION	QTY	RATE	AMOUNT
SOURCEWELL ITEM CITY OF KILLEEN - SW ID# 86944 BOX GANG MFG - 010825-BXG SN:			
FL-8 FT 8 Yard Frontload Flattop - Hatchback 10 gauge floor, 12 gauge sides, plastic lids, 5 foot floor supports, primed & painted Forest Green. SOURCEWELL ITEM CITY OF KILLEEN - SW ID# 86944 BOX GANG MFG - 010825-BXG SN:	40	1,032.00	41,280.00
FL-8 8 Yard Frontload Slant - 10 gauge floor, 12 gauge sides, plastic lids, 5 foot floor supports, primed & painted Forest Green. SOURCEWELL ITEM CITY OF KILLEEN - SW ID# 86944 BOX GANG MFG - 010825-BXG SN:	10	1,026.00	10,260.00
Estimated freight \$1100 per truckload. All freight must be confirmed at time of shipping due to volatility.	SUBTOTAL TAX		107,140.00
10) full truckloads w/the 4yds nested inside.	SHIPPING TOTAL	\$118	11,000.00 <b>3,140.00</b>
CITY OF KILLEEN - SOURCEWELL ID# 86944 BOX GANG MFG - #040621 BXG		•	,

Accepted By Accepted Date

## Quote

**ROLL-OFFS USA** P.O. BOX 727 DURANT, OKLAHOMA 74702-0727 (580) 924-6355

Order Number: 0054822 Order Date: 8/26/2025

Salesperson: HOUS Customer Number: KILCIT

Sold To: Ship To:

CITY OF KILLEEN ATTEN: SANITATION DEPARTMENT

P.O. BOX 1329 KILLEEN, TX 76540

Confirm To: Thomas

CITY OF KILLEEN 2003 LITTLE NOLAN RD KILLEEN, TX 76543

Customer P.O. Ship VIA F.O.B. Terms ROT NET 30 Item Number **Back Order** Unit Ordered Price Shipped Amount FSW8S ONE 10.000 0.000 0.000 1,029.000 10,290.00 8YD FL SWEDGE SLANT Whse: 000 SN: TBD EMSCO GREEN Bill Option 1 Option 09 8YD SLANT FL FSW82DR **EACH** 40.000 0.000 0.000 1,064.000 42,560.00 8YD FL SWEDGE 2DR Whse: 000 SN: TBD Bill Option 1 Option 09 **EMSCO GREEN** 8YD 2DR HATCHBACK FL FSW62DR ONE 30.000 0.000 0.000 912.000 27,360.00 6YD FL SWEDGE 2DR Whse: 000 SN: TBD Bill Option 1 Option 09 **EMSCO GREEN** 6YD SLANT FL 14,020.00 FSW4P ONE 20.000 0.000 0.000 701.000 4YD FL SWEDGE Whse: 000 SN: TBD Bill Option 1 Option 09 **EMSCO GREEN** 4YD FL FSW2P ONE 10.000 0.000 0.000 544.000 5,440.00 2YD FL SWEDGE **Whse:** 000 SN: TBD **EMSCO GREEN** Bill Option 1 Option 09 2YD FL

Continued

## Quote

**ROLL-OFFS USA** P.O. BOX 727 DURANT, OKLAHOMA 74702-0727 (580) 924-6355

Order Number: 0054822 Order Date: 8/26/2025

Salesperson: HOUS Customer Number: KILCIT

Sold To: Ship To:

CITY OF KILLEEN ATTEN: SANITATION DEPARTMENT P.O. BOX 1329

KILLEEN, TX 76540

Confirm To: Thomas

CITY OF KILLEEN 2003 LITTLE NOLAN RD KILLEEN, TX 76543

Customer P.O. Ship VIA F.O.B. Terms ROT NET 30

Item Number **Back Order** Price Unit Ordered Shipped Amount FSW3P ONE 10.000 0.000 0.000 632.000 6,320.00

3YD FL SWEDGE Whse: 000

SN: TBD

**EMSCO GREEN** Bill Option 1 Option 09

3YD FL

ALL CONTAINERS: COLOR - EMSCO GREEN

**BUYBOARD CONTRACT PRICING BUYBOARD CONTRACT #686-22** 

FREIGHT - \$1250 A LOAD @ 9 FULL LOADS + A PARTIAL

\*\*\*\*\*\* QUOTE VALID FOR 45 DAYS \*\*\*\*\*

Net Order: 105,990.00 Less Discount: 0.00 12,000.00 Freight: Sales Tax: 0.00 Order Total: 117,990.00

Page:

Quote

**ROLL-OFFS USA** P.O. BOX 727 DURANT, OKLAHOMA 74702-0727 (580) 924-6355

Order Number: 0054823 Order Date: 8/26/2025

Salesperson: HOUS

Customer Number: KILCIT

Sold To:

Ship To:

CITY OF KILLEEN ATTEN: SANITATION DEPARTMENT P.O. BOX 1329

CITY OF KILLEEN 2003 LITTLE NOLAN RD KILLEEN, TX 76543

KILLEEN, TX 76540

Confirm To: Thomas Everett 254-501-7757

Customer P.O. Ship VIA F.O.B. Terms ROT NET 30

Item Number **Back Order** Price Unit Ordered Shipped Amount RB20H ONE 8.000 0.000 0.000 5,292.000 42,336.00 20YD HD BT Whse: 000 SN: TBD Bill Option 1 Option 09 **EMSCO GREEN** HD BT FLOOR Bill Option 4 Option 01 20YD HEAVY DUTY BATHTUB COLOR: EMSCO GREEN

RB30H **EACH** 8.000 0.000 0.000 5,905.000 47,240.00

30YD HD BT **Whse:** 000

SN: TBD

Bill Option 1 Option 09 **EMSCO GREEN** Bill Option 4 Option 01 HD BT FLOOR 30YD HEAVY DUTY BATHTUB COLOR: EMSCO GREEN

> BUYBOARD CONTRACT PRICING **BUYBOARD CONTRACT # 686-22**

FREIGHT - \$1250 A LOAD @ 2 FULL LOADS AND A PARTIAL

QUOTE VALID FOR 45 DAYS

Net Order: 89,576.00 Less Discount: 0.00 3,250.00 Freight: Sales Tax: 0.00 Order Total: 92,826.00





Contract # 120324-TOT

1661 Frontera Rd, Del Rio, TX, 78840 PHONE: 800-424-0422 FAX: 833-930-1124

WQ-10358422

## Sell To:

Contact Name Tom Everett

Bill To Name City of Killeen

Bill To PO Box 1329

Killeen, TX 76540-1329

USA

Email teverett@killeentexas.gov

Phone (254) 290-6891

Ship To Name City of Killeen

Ship To 2003 Little Nolan Rd

(Closed on Wednesdays - no deliveries)

Killeen, TX 76542-2764

USA

Quick Ship

## **Quote Information**

Salesperson Rebecca Delander Expiration Date 10/17/2025
Salesperson Email rdelander@wastequip.com Quote Number WQ-10358422

Salesperson Phone (651) 358-7136

Please Reference Quote Number on all

Purchase Orders

Product	Product Description	Selected Option	Quantity	Sales Price	Total Price
**Plastics - 79232	Model 79232 - Toter 32 Gallon EVR II Universal/Nestable Cart	Body Color - (968) GreenstoneLid Color - (200) BlackBody Hot Stamp on Both Sides (Existing) in WhiteLid Hot Stamp Insert - Read from Street (Existing) in (Not provided)Wheels - 10in SunburstCustomer Serial Number Hot Stamped on Front of Cart Body in White2/3 Assembled with Lid (down), Stop Bar and Axle Factory InstalledWarranty - 12 Yrs Cart Body, All other components 10 Yrs	312.00	\$40.50	\$12,636.00
**Plastics - 79264	Model 79264 - Toter 64 Gallon EVR II Universal/Nestable Cart	Body Color - (968) GreenstoneLid Color - (200) BlackBody Hot Stamp on Both Sides (Existing) in WhiteWheels - 10in SunburstCustomer Serial Number Hot Stamped on Front of Cart Body in White2/3 Assembled with Lid (down), Stop Bar and Axle Factory InstalledWarranty - 12 Yrs Cart Body, All other components 10 Yrs	312.00	\$48.50	\$15,132.00
**Plastics - 79296	Model 79296 - Toter 96 Gallon EVR II Universal/Nestable Cart	Body Color - (968) GreenstoneLid Color - (200) BlackBody Hot Stamp on Both Sides (Existing) in WhiteWheels - 10in SunburstLid Insert - Read from Street (Existing)Customer Serial Number Hot Stamped on Front	1,248.00	\$53.25	\$66,456.00



Contract # 120324-TOT



WQ-10358422

1661 Frontera Rd, Del Rio, TX, 78840 PHONE: 800-424-0422 FAX: 833-930-1124

of Cart Body in White

---2/3 Assembled with Lid (down), Stop Bar and

Axle Factory Installed

---Warranty – 12 Yrs Cart Body, All other

components 10 Yrs

Payment Terms

Net 30 Days if credit has been established

Shipping Terms FOB Origin

Subtotal

\$94,224.00

Shipping \$3,380.00

Tax \$0.00

Grand Total \$97,604.00

#### Additional Information

Additional Terms

Our Quote serves as an offer to provide Products and/or services at the quantities and prices shown and is a good faith estimate, based on our understanding of your needs. By signing below, you indicate your acceptance of our offer which is expressly subject to the Wastequip Terms & Conditions of Sale ("Wastequip's Terms"") located at: <a href="https://www.wastequip.com/terms-conditions-sale">https://www.wastequip.com/terms-conditions-sale</a>, as of the date set forth in Section 1(b) of the WQ T&C, which are made

a part of this Quote. Wastequip's Terms may be updated from time to time and are available by hard copy upon request. Any changes or deviations to the terms of this Quote, including any different terms in an Order submitted by you, must be agreed upon in writing by both parties.

Additional Information Pricing is based on your acceptance prior to the expiration of this Quote, including product specifications, quantities, and timing. Any differences to your Order may result in different pricing, freight or other costs. Due to volatility in petrochemical, steel and related Product material markets, actual prices and freight, are subject to change. We reserve the right, by providing notice to you at any time before beginning Product manufacturing, to increase the price of the Product(s) to reflect any increase in the cost to us which is due to any factor beyond our control (such as, without limitation, any increase in the costs of labor, materials, or other costs of manufacture or supply). Unless otherwise stated, materials and container sizes indicated on sales literature, invoices, price lists, quotations and delivery tickets are nominal sizes and representations – actual volume, Products and materials are subject to manufacturing and commercial variation and Wastequip's practices, and may vary from nominal sizes and materials. All prices are in US dollars; this Quote may not include all applicable taxes, brokerage fees or duties. If customer is not tax exempt, final tax calculations are subject to change. Pursuant to California Section 26275 of the Health and Safety Code, certain trash receptacles and storage containers must be marked with reflectors. Customers must disclose if such receptacles and containers are intended for use in California – if not disclosed, the receptacles and containers are not intended for use in California.

Special Contract Information Sourcewell – Pricing and Products/Services offerings are based on the Sourcewell Co-Operative Contract with Toter, LLC (#120324-TOT, eff. 4/4/2025), and such Contract terms and conditions are incorporated herein by reference. Pricing and Products/Services changes may occur at any time with proper documentation, and subject to Sourcewell approval; therefore, offerings may change without written prior notice. Wastequip Product Limited Warranties, Disclaimers, Limitation of Liability and Remedies, and Limited Warranty Provisions apply to all purchases thereunder.

Signatures	
Accepted By:	
Company Name:	
Date:	
Purchase Order:	

Please Reference Quote Number on all Purchase Orders





8521 FM 850, Tyler, TX, 75705

PHONE: 903-405-4475

WQ-10358079

Sell To:

Contact Name Tom Everett

Bill To Name City of Killeen

Bill To PO Box 1329

Killeen, TX 76540-1329

USA

Email teverett@killeentexas.gov

Phone (254) 290-6891

Salesperson Phone (361) 362-4485

Ship To Name City of Killeen

Ship To 2003 Little Nolan Rd

(Closed on Wednesdays - no deliveries)

Killeen, TX 76542-2764

USA

Quick Ship

#### **Quote Information**

Salesperson Chance Hennig Expiration Date 9/7/2025
Salesperson Email chennig@wastequip.com Quote Number WQ-10358079

Please Reference Quote Number on all

Purchase Orders

Product	Product Description	Quantity	Sales Price	Total Price
Container - TT - 163340	20 Cubic Yard Heavy Duty Bathtub ROC 22' Long - Floor: 1/4" with 3" structural channels on 18" centers and 6"x 2"x 1/4" Structural Tubing Main Rails, WALLS: 10 gauge with 4" x 3" x 3/16" Top Rails, Primed and Painted any Standard Color	8.00	\$5,996.00	\$47,968.00
Container - TT - 163361	30 Cubic Yard Heavy Duty Bathtub ROC 22' Long - Floor: 1/4" with 3" structural channels on 18" centers and 6"x 2"x 1/4" Structural Tubing Main Rails, WALLS: 10 gauge with 4" x 3" x 3/16" Top Rails, Primed and Painted any Standard Color	8.00	\$6,885.00	\$55,080.00

Payment Terms Net 30 Days if credit has been established

FOB Origin

 Subtotal
 \$103,048.00

 Shipping
 \$2,823.00

 Tax
 \$0.00

Grand Total \$105,871.00

#### Additional Information

Additional Terms

Shipping Terms

Our Quote serves as an offer to provide Products and/or services at the quantities and prices shown and is a good faith estimate, based on our understanding of your needs. By signing below, you indicate your acceptance of our offer which is expressly subject to the Wastequip Terms & Conditions of Sale ("Wastequip's Terms"") located at:

https://www.wastequip.com/terms-conditions-sale, as of the date set forth in Section 1(b) of the WQ T&C, which are made a part of this Quote. Wastequip's Terms may be updated from time to time and are available by hard copy upon request. Any changes or deviations to the terms of this Quote, including any different terms in an Order submitted by you, must be agreed upon in writing by both parties.

Additional Information Pricing is based on your acceptance prior to the expiration of this Quote, including product specifications, quantities, and timing. Any differences to your Order may result in different pricing, freight or other costs. Due to volatility in petrochemical, steel and related Product material markets, actual prices and freight, are subject to change. We reserve the right, by providing notice to you at any time before beginning Product manufacturing, to increase the price of the Product(s) to reflect any increase in the cost to us which is due to any factor beyond our control (such as, without





8521 FM 850, Tyler, TX, 75705 PHONE: 903-405-4475

WQ-10358079

limitation, any increase in the costs of labor, materials, or other costs of manufacture or supply). Unless otherwise stated, materials and container sizes indicated on sales literature, invoices, price lists, quotations and delivery tickets are nominal sizes and representations – actual volume, Products and materials are subject to manufacturing and commercial variation and Wastequip's practices, and may vary from nominal sizes and materials. All prices are in US dollars; this Quote may not include all applicable taxes, brokerage fees or duties. If customer is not tax exempt, final tax calculations are subject to change. Pursuant to California Section 26275 of the Health and Safety Code, certain trash receptacles and storage containers must be marked with reflectors. Customers must disclose if such receptacles and containers are intended for use in California – if not disclosed, the receptacles and containers are not intended for use in California.

Special Contract Information Sourcewell-Pricing & Product offerings are based on the Sourcewell Co-Operative Contract with Wastequip Manufacturing Company LLC (#010825-WQI, eff. 05/29/2025) and such Contract terms & conditions are incorporated herein by reference. Pricing & Product (& related) changes may occur at any time with proper documentation, & subject to Sourcewell approval; therefore, offerings may change without written prior notice. Wastequip Product Limited Warranties, Disclaimers, Limitation of Liability & Remedies, & Limited Warranty Provisions apply to all purchases thereunder.

Signatures	
Accepted By:	
Company Name:	
Date:	
Purchase Order:	

Please Reference Quote Number on all Purchase Orders